
Direct Proportional – With Mistakes!
X is directly proportional to Y.  Andy has been completing these direct proportion grids but has made 

EXACTLY 1 mistake in each one.  Change 1 number to make the DP table correct.

X 1 6 10

Y 3 18 33

X 1 3 6

Y 2 6 10

X 1 4 7

Y 3 11 21

X 1 6 7

Y 3 18 22

X 1 5 6

Y 3 7 18

X 1 4 5

Y 4 16 21

X 1 4 6

Y 4 15 24

X 1 2 4

Y 2 4 6

X 1 3 6

Y 2 6 3

X 1 2 3

Y 10 20 40

X 2 1 4

Y 10 5 2.5

X 1 4 5

Y 5 15 25

X 15 30 60

Y 2 5 8

X 60 30 9

Y 40 20 5

X 1.3 0.7 50%

Y 5 2.8 2.0


